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55 0 UL P 5 e T 8.75 2.90 0. 00 1.43 42.0 0.0 0. 42. 49,07 A7 TV MR
102.6 47~ 102, 7.55 0. 00 1.80

54 0 UL P 5 e T 7.5 2.90 0. 00 0.00]  114.0 0.0 0. 114. 156,07 27 7V Rk
102.7 0~ 102 5. 80 2.55 0. 00

54 0 UL P 5 R e T 6. 60 4. 00 0. 00 0. 65 99. 0 0.0 0. 99. 955, 0|7 27 7 /v M
102.8 0~ 102 6. 95 3.15 0.70

54 0 UL P 5 R T 6. 60 4. 00 0. 00 0. 65 93.0 0.0 0. 93. 348, 0|7 27 7 /v MR
1029 0~  103. 6. 95 3.15 0.70

4 0 UL P 5 R T 3. 80 0. 00 0. 00 0.60|  104.0 0.0 0. 104. 452.0|7 A7 7V M
0.0 0~  103. 3. 65 0. 00 2.05

4 [ L P 7 B B T 3. 80 0. 00 0. 00 0.60] 123.0 0.0 0. 123. 575,07 A7 7 /v M
103. 1 0~ 103 3. 65 0. 00 2. 05

45 [ UL FR 7 R B AT 4.925 0. 00 0. 00 1.65 7.0 0.0 0. 77. 652, 0|7 7 7 /v MR
103.2 0~ 103 5. 40 0. 00 2.15

45 0 UL FR 7 BB AT 5.70 0. 00 0. 00 1.45 98.0 0.0 0. 98. 750. 0 ;;é”” M,
103.3 0~ 103. 3. 80 0. 00 1.00

i U B 7 BB B R T 5.70 0.00 0.00 1.45 105.0 0.0 0. 105. 855. 0 2;@7” P,
103.4 0~  103. 3. 80 0. 00 1..00

54 0 UL P 5 T 6. 50 0. 00 0. 00 .85 102.0 0.0 0. 102. 957, 0|7 27 7 /v MR
103.5 0~  103. 3.25 0. 00 0. 80

54 0 UL P 5 R e T 7.35 0. 00 0. 00 1. 60 88. 0 0.0 0. 88. 1,045, 0|7 27 7V Rk
103.6 0~  103. 3. 45 0. 00 1.05

4 [ V2L FR 7 B AT 6. 50 0. 00 0. 00 1.85 85.0 0.0 0. 85. 1,130.0 ;;é7” P,
103.7 0~  103. 3.75 0. 00 0. 65

4 0 UL P 5 R T 6. 50 0. 00 0. 00 1.85]  104.0 0.0 0. 104. 1,234, 0|7 A7 7V PaLE
103.8 0~  103. 3.75 0. 00 0. 65

4 [ 5L P 7 B B T 5.70 0. 00 0. 00 Leo|  122.0 0.0 0. 122. 1,356 0|7 7 7V Pl
103.9 0~ 104 3.75 0. 00 0. 90
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i U B 7 BB B R T 5.70 0.00 0.00 1. 60 110.0 0.0 0. 110. 1, 466,07 *7 7V M
104. 0 0~ 104 3.75 0. 00 0.90

54 0 UL P 5 e T 6. 25 0. 00 0. 00 0.70 88. 0 0.0 0. 88. 1,554, 0|7 27 7V Rk
104. 1 0~ 104 5.95 0. 00 0. 00

F [ U5 B 5 B i R T 6.75 0.00 0.00 2.15 112.0 0.0 0. 112. 1,666.0|7 7 7V L
104. 2 0~ 104 3.50 0. 00 0.85

54 0 UL P 5 R T 6.75 0. 00 0. 00 2.15 87.0 0.0 0. 87. 1,753, 0|7 A7 7V ke
104. 3 0~  104. 3.50 0. 00 0.85

4 0 UL P 5 R T 7.70 0. 00 0. 00 0.90|  109.0 0.0 0. 109. 1,862, 0|7 27 7V ke
104.4 0~  104. 6. 15 0. 00 0. 00

4 [ L P 7 B B T 7.75 2. 50 0. 00 1.25 95. 0 0.0 0. 95. 1,957.0|7 27 7V R
104. 5 0~ 104 6. 85 0. 00 0. 00

45 [ UL FR 7 R B AT 6.25 3.10 0. 00 0.75|  100.0 0.0 0. 100. 2,057. 0|7 *7 7 /v Mk
104. 6 0~  104. 3.25 0. 00 0. 90

4 ] UL P 5 B I T T 6. 25 3. 10 0. 00 0.75 82.0 0.0 0. 82. 2,139, 0|7 *7 7 /v Mk
104.7 0~ 104 3.25 0. 00 0. 90

i U B 7 BB B R T 6. 25 3.10 0.00 0.75 108.0 0.0 0. 108. 2,247. 0|7 A7 TV b A%
104. 8 0~ 104 3.25 0. 00 1.45

54 0 UL P 5 T 7. 80 3. 10 0. 00 0. 80 87.0 0.0 0. 87. 9,334, 0|7 7 7 /v Mk
104.9 0~ 105 9.25 0. 00 0.90

F [ U5 B 5 B i R T 7. 80 3.10 0.00 0.80 103.0 0.0 0. 103. 2,437.0|7 A7 TV S
105. 0 0~ 105 9.25 0. 00 0.90

4 0 UL P 5 R T 6. 25 3. 25 0. 00 0. 60 85. 0 0.0 0. 85. 9,592, 0|7 27 7 /v M
105. 1 0~ 105 3.95 0. 00 0.70

4 0 UL P 5 R T 6. 25 0. 00 0. 00 0.60|  123.0 0.0 0. 123. 9,645, 0|7 X7 7 /v M
105. 2 0~ 105 3.95 0. 00 0.70

4 [ 5L P 7 B B T 6.25 0. 00 0. 00 1.25 92.0 0.0 0. 92. 9,737, 0|7 X7 7 /v Ml
105. 3 0~ 105 3.25 0. 00 0.95
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i U B 7 BB B R T 6. 20 0.00 0.00 1. 30 112.0 0.0 0. 112. 2,849, 0|/ X7 7 /v M
105. 4 0~ 105 3.25 0. 00 1.45

54 0 UL P 5 e T 6. 20 0. 00 0. 00 1.30 92.0 0.0 0. 92. 2,941, 0|7 *7 7 /v Mk
105. 5 0~ 105 3.25 0. 00 1.45

F [ U5 B 5 B i R T 6. 25 0.00 0.00 1. 20 100.0 0.0 0. 100. 3,041,017 27TV L
105. 6 0~ 105 3.25 0. 00 0.90

54 0 UL P 5 R T 6. 25 0. 00 0. 00 115 109.0 0.0 0. 109. 3,150, 0|7~ 7 7 /v M
105. 7 0~ 105 3.00 0. 00 1.55

4 0 UL P 5 R T 6. 25 0. 00 0. 00 1.15 96. 0 0.0 0. 96. 3,246, 0|7 7 7 /v M
105. 8 0~ 105 3.00 0. 00 1.55

4 [ L P 7 B B T 6. 65 0. 00 0. 00 1. 40 95. 0 0.0 0. 95. 3,341, 07 A7 7V ML
105. 9 0~ 106 3.70 0. 00 1. 70

B[] U7 HH 5 B 1 pig T 3.80 0.00 0.00 2.10 122.0 0.0 0. 122. 3,463, 0|7 7 7 /v MR
106. 0 0~ 106 3. 80 0. 00 0.70

4 ] UL P 5 B I T T 3. 80 0. 00 0. 00 2.10 90. 0 0.0 0. 90. 3,553, 0|7 7 7 /v M
106. 1 0~ 106 3. 80 0. 00 0.70

55 0 UL P 5 e T 3. 50 3. 65 0. 00 0. 60 97.0 0.0 0. 97. 3,650.0|7 7 7 /v Ml
106. 2 0~ 106 7.50 0. 00 1.55

54 0 UL P 5 T 3.00 4.10 0. 00 0.80]  108.0 0.0 0. 108. 3,758, 0|7 7 7 /v M
106. 3 0~ 106 7.45 0. 00 1. 40

54 0 UL P 5 R e T 3.00 4.10 0. 00 0. 80 87.0 0.0 0. 87. 3,845, 0|7 7 7 /v Ml
106.4 0~  106. 7.45 0. 00 1. 40

4 0 UL P 5 R T 6. 25 4.10 0. 00 0.75 94. 0 0.0 0. 94. 3,939, 0|7 27 7 /v M
106. 5 0~ 106 3.95 0. 00 0. 65

4 0 UL P 5 R T 6.75 2.90 0. 00 2.80]  103.0 0.0 0. 103. 4,042, 0|7 A7 7 /v DI
106. 6 0~ 106 3.95 0. 00 0. 80

0 U F 7 BB B R T 6.75 4.20 0.00 0.75 106. 0 0.0 0. 106. 4,148. 0|7 A7 TV b Al
106. 7 0~ 106 3. 50 2.15 0. 80
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55 0 UL P 5 e T 6.75 4.20 0. 00 0.75 94. 0 0.0 0.0 9a.0| 4,242 0|7 A7 TV M=
106. 8 0~  106.9 0 3. 50 2.15 0. 80

54 0 UL P 5 e T 6.75 4.20 0. 00 0.75 21.0 0.0 0.0 o1.0| 4,263 0|7 27 7 /v Mk
106.9 0~  106.9 21 3. 50 2.15 0. 80

R = B 7.70 3.95 0. 00 0.80 75.0 0.0 0.0 75.0|  4,338.0|7 27 7V MR
106.9 21~  107.0 0 4.00 0. 00 0.90

R R = 5T 6. 75 2.85 0. 00 0. 80 105.0 0.0 0.0 105. 0 4,443 0|7 A7 TV S
107. 0 0~  107.1 0 3. 45 0. 00 0.95

FEE R = 5T 6. 75 2.85 0. 00 0. 80 98.0 0.0 0.0 98.0 4,541.0|7 27 TV L
107. 1 0~  107.2 0 3. 45 0. 00 0.95

I I = g 6. 80 2.50 0. 00 1.75 96. 0 0.0 0.0 96.0|  4,637.0|7 27 7V Pl
107. 2 0~  107.3 0 3. 50 0. 00 1. 40

H = B i 6. 80 2.50 0. 00 175 100.0 0.0 0.0 100.0|  4,737.0|7 A7 7 /v Mk
107.3 0~  107.4 0 3. 50 0. 00 1. 40

FRl B = 5 6. 25 2.65 0. 00 1.15 99.0 0.0 0.0 99.0 4,836. 0|7 27T h#i%e
107.4 0~ 107.5 0 3.30 0. 00 1.05

e R = 4.70 0. 00 0. 00 2.00]  100.0 0.0 0.0 100.0| 4,936 0|7 27 7 /v Ml
107.5 0~  107.6 0 4.95 0. 00 1.85

I R = B 3. 40 0. 00 0. 00 0. 55 44.0 55. 0 0.0 99.0| 5,035 0|7 27 7 /v Mk
107.6 0~  107.7 0 3. 30 0. 00 0.55

R = B 3. 40 0. 00 0. 00 0.55 37.0 23.0 35.0 95.0|  5,130.0|7 27 7 /v M
107. 7 0~ 107.8 0 3.30 0. 00 0.55

R R = 5T 3.25 0. 00 0. 00 1.50 28.0 0.0 74.0 102. 0 5,232.0|7 27 TV S
107. 8 0~  107.9 0 3.95 0. 00 0. 60

FEE R = 5T 3.25 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0 5,332.0|7 27 TV b Hi
107. 9 0~  108.0 0 3.95 0. 00 0. 60

H L= B T 3.20 0. 00 0. 00 1. 60 99. 0 0.0 0.0 99.0| 5,431 0|7 27 7V Pl
108. 0 0~  108.1 0 3.15 1. 60 0. 65
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e R = 4.95 1.65 0. 00 0.70 40. 0 59. 0 0. 99. 5,530. 0| 7 7 /v M
108. 1 0 108. 5. 90 1.75 0. 45

I R = B 4.95 1.65 0. 00 0.70 82.0 18.0 0. 100. 5,630, 0|7 7 7 /v Ml
108.2 0 108. 5. 90 1.75 0. 45

SR 4.10 2. 80 0. 00 0. 50 99. 0 0.0 0. 99. 5,720, 0|7 27 7 /v M
108.3 0 108. 4.05 1.75 1. 50

e L = il 3.70 0. 00 0. 00 0.75 98. 0 0.0 0. 98. 5,827, 0|7 *7 7 /v M
108.4 0 108. 3.90 0. 00 0.45

B L = Bl 3.70 1.95 0. 00 0.75 98. 0 0.0 0. 98. 5,925. 0|7 * 7 7 /v Ml
108.5 0 108. 3.90 0. 00 0.45

H L = B T 4.00 1.95 0. 00 2.85 98. 0 0.0 0. 98. 6,023, 0|7 7 7 /v Ml
108.6 0 108. 3. 50 0. 00 1..00

H = B i 3.25 2.15 0. 00 0. 00 98.0 0.0 0. 98. 6,121. 0|7 7 7 /v Mk
108.7 0 108. 3. 50 0. 00 0. 80

FRl B = 5 3.25 2.15 0. 00 0. 00 103.0 0.0 0. 103. 6,224. 0|7 *7 T h#i%e
108.8 0 108. 3. 50 0. 00 0. 80

e R = 3. 65 1.35 0. 00 0.45|  100.0 0.0 0. 100. 6,324. 0|7 7 7 /v Ml
108.9 0 109. 3. 65 0. 00 0. 80

I R = B 3. 45 1.80 0. 00 0.25|  102.0 0.0 0. 102. 6,426, 0|7 7 7 /v Mk
109.0 0 100. 3. 45 0. 00 0. 70

SR 3. 45 1.80 0. 00 0.25 99. 0 0.0 0. 99. 6,525. 0|7 7 7 /v Mk
109. 1 0 109. 3. 45 0. 00 0.70

He L = il 5.15 2.75 0. 00 0. 55 95. 0 0.0 0. 95. 6,620, 0|7 7 7 /v M
109.2 0 109. 3.55 0. 00 1.35

B L = Bl 3.75 2.75 0. 00 0. 50 98. 0 0.0 0. 98. 6,718 0|7 X7 7 /v M
109.3 0 109. 4.5 0. 00 2.10

H L= B T 3.25 1.70 0. 00 0. 50 98. 0 0.0 0. 98. 6,816, 0| 7 7 /v Mli%
109.4 0 100. 3. 65 0. 00 1. 60
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e R = 3.25 1.70 0. 00 0. 50 50. 0 0.0 49. 99. 6,915. 0/ * 7 7 /v M
109.5 0 100. 3. 65 0. 00 1. 60

I R = B 4.45 2.00 0. 00 4. 60 40. 0 0.0 48. 88. 7,003, 0|7 27 7 /v M
109.6 0 109. 3.75 0. 00 1. 60

R = B 3.30 1.65 0. 00 0.55|  110.0 0.0 0. 110. 7,113.0|7 27 7 /v MR
109.7 0 109. 3. 65 0. 00 1.35

e L = il 3. 30 1.65 0. 00 0. 55 99. 0 0.0 0. 99. 7,212.0|7 27 7 /v MR
109.8 0 109. 3. 65 0. 00 1.35

B L = Bl 3. 30 1.65 0. 00 0. 55 99. 0 0.0 0. 99. 7,311.0|7 27 7 /v M
109.9 0 110. 3. 65 0. 00 1.35

H L = B T 4.00 0. 90 0. 00 1.20 99. 0 0.0 0. 99, 7,410.07 A7 7V M
110.0 0 110. 4.00 0. 00 1..00

H = B i 4.00 0.90 0. 00 1.20 99. 0 0.0 0. 99, 7,500, 0|7 *7 7 /v MR
110. 1 0 110. 4.00 0. 00 1..00

FRl B = 5 3.65 1.90 0. 00 0.70 60. 0 0.0 39. 99. 7,608.0|7 7 7 h#i%e
110.2 0 110. 4.20 0. 00 1. 40

e R = 7.55 1.85 0. 00 0. 00 99. 0 0.0 0. 99. 7,707.0|7 27 7 /v M
110.3 0 110. 3.25 0. 00 0. 90

I R = B 3.25 1. 60 0. 00 0.70 99. 0 0.0 0. 99. 7,806, 0|7 7 7 /v Ml
110.4 0 110. 3. 50 0. 00 0.75

R = B 3.25 1. 60 0. 00 0.70]  100.0 0.0 0. 100. 7,906, 0|7 27 7 /v Ml
110.5 0 110. 3.50 0. 00 0.75

He L = il 3. 50 1.80 0. 00 0. 50 99. 0 0.0 0. 99. 8,005, 0|7 X7 7 /v M
110.6 0 110. 3.50 0. 00 0. 80

B L = Bl 3. 50 1.80 0. 00 0. 50 98. 0 0.0 0. 98. 8,103, 0|7 X7 7 /v Mk
110.7 0 110. 3.50 0. 00 0. 80

H L= B T 3.50 1.90 0. 00 1.90|  103.0 0.0 0. 103. 8,206, 0|7 7 7 /v Ml
110.8 0 110. 3. 50 0. 00 1.10
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e R = 3. 50 2.00 0. 00 0.50]  102.0 0.0 0. 102. 8,308. 0| X7 7 /v M
110.9 0 111. 3. 50 0. 00 1.15

I R = B 3. 50 2.00 0. 00 0. 50 90. 0 0.0 0. 90. 8,398, 0|~ 7 7 /v Mk
1.0 0 111. 3. 50 0. 00 1.15

SR 3. 25 1.80 0. 00 0. 40 99. 0 0.0 0. 99. 8,497, 0|7 7 7 /v Mk
111. 1 0 111. 3.25 0. 00 1. 50

e L = il 3.90 1.90 0. 00 0.70 91.0 0.0 0. 91. 8,588, 0|7 X7 7 /v M
111.2 0 111. 3.90 1.55 0. 50

B L = Bl 3.90 1.90 0. 00 0.70 98. 0 0.0 0. 98. 8,686, 0|7 %7 7 /v Mk
111.3 0 111. 3.90 1.55 0. 50

H L = B T 6. 65 1.65 0. 00 0. 50 99. 0 0.0 0. 99, 8,785, 0|7 7 7 /v Ml
114 0 111. 3.25 2. 05 0. 40

H = B i 5. 85 1.30 0. 00 1.30 99. 0 0.0 0. 99, 8,884. 0|7 7 7 /v Mk
1.5 0 111. 3. 00 1.70 0. 50

I R = i 5. 85 1.30 0. 00 1.30 99. 0 0.0 0. 99. 8,983, 0|7 7 7 /v Mk
1.6 0 111. 3. 00 1.70 0. 50

e R = 6.75 2. 45 0. 00 0. 60 93.0 0.0 0. 93. 9,076. 0|7 7 7 /v Ml
1.7 0 111. 3.25 2. 55 2. 30

I R = B 6.75 4.90 0. 00 0.50]  109.0 0.0 0. 109. 9, 185. 0|7 7 7 /v Mk
1.8 0 111. 4.00 0. 00 1.00

SR 6. 60 0. 00 0. 00 0. 60 90. 0 0.0 0. 90. 9,275. 0|7 27 7 /v Mk
11.9 0 112. 3. 60 0. 00 1.65

R R = 5T 6. 80 3.15 0. 00 0. 60 100. 0 0.0 0. 100. 9,375.0|7 A7 TV S
112.0 0 112. 6. 65 0. 00 1.80

B L = Bl 6. 60 3.15 0. 00 0. 60 99. 0 0.0 0. 99. 9,474, 0|7 27 7 /v M
112. 1 0 112. 3. 60 0. 00 1.80

H L= B T 6. 60 2.35 0. 00 0. 60 97.0 0.0 0. 97. 9,571, 0|7 X7 7 /v Ml
112.2 0 112. 3. 60 0. 00 1.65
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e R = 7.00 2.35 0. 00 0. 50 97.0 0.0 0. 97. 9,668. 0~ 7 7 /v M
112.3 0 112. 3.55 0. 00 1.90

I R = B 6. 50 2. 40 0. 00 0. 60 95. 0 0.0 0. 95. 9,763. 0|7 7 7 /v Mk
112.4 0 112. 3.25 0. 00 1.95

R = B 6. 50 2. 40 0. 00 0.60]  100.0 0.0 0. 100. 9,863. 0|7 7 7 /v Ml
112.5 0 112. 3.25 0. 00 1.95

R R = 5T 6. 75 3.15 0. 00 0. 60 105.0 0.0 0. 105. 9,968.0|” *7 TV S
112. 6 0 112. 3.95 0. 00 2.15

B L = Bl 6.75 3.15 0. 00 0. 60 99. 0 0.0 0. 99. 10,067, 0|7 27 7 /v Ml
112.7 0 112. 3.95 0. 00 2.15

H L = B T 6. 50 2.70 0. 00 0. 60 95. 0 0.0 0. 95. 10, 162, 0 7 7 /v Ml
112.8 0 112. 3.25 0. 00 1. 80

H = B i 6. 50 2.70 0. 00 0. 60 82.0 0.0 0. 82. 10, 244. 0|7 A7 7 /v Mk
112.9 0 113. 3.25 0. 00 1.80

FRl B = 5 6. 50 2.70 0. 00 0. 60 117.0 0.0 0. 117. 10,361. 0|7 X7 7V h#i%e
113.0 0 113. 3.50 0. 00 1.70

e R = 6. 50 2. 50 0. 00 0.70 85. 0 0.0 0. 85. 10, 446, 0|~ 27 7 /v M
113. 1 0 113. 3.50 0. 00 1. 60

I R = B 3.75 3. 30 0. 00 ool 1100 0.0 0. 110. 10,556, 0|7 7 7 /v Mk
113.2 0 113. 3.75 0. 00 1.55

R = B 3.75 3.15 0. 00 1.00 86. 0 0.0 0. 86. 10, 642, 0|7 27 7 /v M
113. 3 0 113. 3.75 0. 00 1.55

R R = 5T 3.75 2. 60 0. 00 0. 80 114.0 0.0 0. 114. 10,756. 0|7 * 7 7V S
113.4 0 113. 3.75 0. 00 1.00

B L = Bl 3.75 2. 60 0. 00 0. 80 84.0 0.0 0. 84. 10,840, 0|7 27 7 /v Ml
113.5 0 113. 3.75 0. 00 1.00

H L= B T 3. 90 2. 50 0. 00 0.75 9.0 0.0 0. 9. 10,849, o 7 X 7 7 /v Ml
113.6 0 113. 4.00 0. 00 0.75
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e R = 3. 50 2. 50 0. 00 1.25 1.0 0.0 172 173. 11, 022. 0|~ 7 7 /¥ ML
113.6 9 113. 68 3. 50 0. 00 1.25

I R = B 3.75 2. 50 0. 00 1.00 15.0 0.0 0. 15. 11,037, 0|7 27 7 /v Mk
113.7 68 113. 0 3.75 0. 00 1.00

R = B 3.75 2.50 0. 00 1.00 69. 0 0.0 0. 60. 11, 106, 0|~ 27 7 /v M
113.8 0 113. 69 3.75 0. 00 1.00

e L = il 3. 50 2. 50 0. 00 1.25 0.0 0.0 74. 74. 11, 180, 0| 7 A7 7 /v M
113.8 69 113. 41 3.50 0. 00 1.25

B L = Bl 4.00 3.15 0. 00 1.00 47.0 0.0 0. A7, 11,227, 0|7 27 7 /v M
113.9 41 114. 0 4.00 0. 00 1.15

H L = B T 4.00 3.15 0. 00 1.00 88.0 0.0 0. 88. 11,315, 0|7 X7 7 /v Ml
114.0 0 114. 0 4.00 0. 00 1.15

H = B i 4.00 3.15 0. 00 1.00 84.0 0.0 0. 84. 11,399, 0|7 A7 7 /v Mk
114. 1 0 114. 0 4.00 0. 00 1.20

FRl B = 5 4.00 3.05 0. 00 1.00 114.0 0.0 0. 114. 11,513.0| 7 A7 7V h#i%e
114.2 0 114. 0 4.00 0. 00 1.25

e R = 4. 00 3.05 0. 00 1.00 83.0 0.0 0. 83. 11,596, 0|7 *7 7 /v M
114.3 0 114. 0 4.00 0. 00 1.25

I R = B 4. 00 2.70 0. 00 ool 1130 0.0 0. 113. 11, 709, 0| 7 27 7 /v Mk
114.4 0 114. 0 4.00 0. 00 1.35

R = B 4.00 2.70 0. 00 0.80 85.0 0.0 0. 85. 11,794, 0|7 27 7 /v M
114.5 0 114. 0 3.90 0. 00 1.35

He L = il 4. 00 2.70 0. 00 0.80| 111.0 0.0 0. 111. 11,905, 0|7 27 7 /v M
114.6 0 114. 0 3.90 0. 00 1.35

B L = Bl 4.00 3.15 0. 00 1.00 93.0 0.0 0. 93. 11,998, 0|7 27 7 /v Ml
114.7 0 114. 0 4.00 0. 00 1.65

H L= B T 3. 50 4.65 0. 00 1.00|  103.0 0.0 0. 103. 12, 101, 0| 7 7 /v Ml
114.8 0 114. 0 3. 50 0. 00 1. 50




e #E oL K OH F 10726
W
HRR4 2 0001 By
" B i =
X (BB B, FE DA m m ENNAE S & 1 O FEEE fii =
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IR = B 3.50 2. 40 0. 00 1.20 91.0 0.0 0. 91. 12,192 07~ 7 7 /¥ MR
114.9 0 115. 0 3. 50 0. 00 1. 20

I R = B 3. 50 2. 40 0. 00 20| 1170 0.0 0. 117. 12,309, 0|7 27 7 /v M
115.0 0 115. 0 3. 50 0. 00 1. 20

R = B 3.50 2.30 0. 00 1.oo|  193.0 0.0 0. 193. 12,502, 0|7 27 7 /v M
115. 1 0 115. 0 3.50 0. 00 1. 40

e L = il 3. 26 2.00 0. 00 0. 50 39. 0 0.0 0. 39. 12,541, 0|7 A7 7 /v M
115. 5 0 115. 39 3.95 0. 00 0. 50

FEE R = 5T 3.25 2.50 0. 00 0. 50 0.0 0.0 187. 187. 12,728.0| 7 27 T L
115.5 39 115. 29 3.95 0. 00 0. 50

H L = B T 3.25 3. 00 0. 00 0. 50 71.0 0.0 0. 71. 12,799, 0| 7 7 /v Ml
115.7 29 115. 0 3.25 0. 00 0. 50

I R = 6. 40 2. 40 1.20 1.0o|  100.0 0.0 0. 100. 12,899, 0|7 * 7 7 /v Mk
115.8 0 115. 0 3. 50 0. 00 1. 60

FRl B = 5 6. 50 3.10 1.20 1.00 101.0 0.0 0. 101. 13,000. 0|7 A7 7V h#i%e
115.9 0 116. 0 3.50 0. 00 1.80

R = B 6. 50 3.10 1.20 1.oo| 1100 0.0 0. 110. 13,110.0 ﬁié%;% P,
116.0 0 116. 0 3.50 0. 00 1.80

I R = B 6. 50 2.70 0. 00 1. 00 96. 0 0.0 0. 96. 13, 206. 0 ;’F;éf'ﬁ;: P,
116. 1 0 116. 0 6. 00 0. 00 1.95

R = B 6. 50 3.20 1.00 1.05 96. 0 0.0 0. 96. 13,302. 0 ;Fiéfﬁh% P,
116. 2 0 116. 0 3. 60 3.10 6. 35

R R = 5T 6. 90 2. 40 0. 00 1.20 95.0 0.0 0. 95. 13,397.0 ;Fiﬁjﬁjzg P,
116. 3 0 116. 0 3.50 2.30 0.85

B L = Bl 6. 90 2. 40 0. 00 .20l 122.0 0.0 0. 122. 13,519. 0 ;Fiézﬁjz; R,
116.4 0 116. 0 3.50 2. 30 0.85

H L= B T 6. 50 5. 20 0. 00 1.35 95. 0 0.0 0. 95. 13,614, 0|7 7 7 /v Ml
116.5 0 116. 0 3. 50 2.95 2. 20
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IR = B 6. 50 4.50 0. 00 0.00]  109.0 0.0 0. 100. 13,723.0 giézﬁ% MR,
116.6 0 116. 3. 50 1.55 3. 65

I R = B 6. 50 4.50 0. 00 0. 00 86. 0 0.0 0. 86. 13, 809. 0 gk;éfﬁjf: P,
116.7 0 116. 3. 50 1.55 3. 65

R = B 6. 50 2. 60 0. 00 1.50]  101.0 0.0 0. 101. 13,910. 0 T}iiézﬁg P,
116.8 0 116. 3.50 2.55 3.20

R R = 5T 6. 50 2. 60 0. 00 1.50 110.0 0.0 0. 110. 14, 020. 0 ;Fiﬁjﬁjzg P,
116.9 0 117. 3.50 2.55 3.20

FEE R = 5T 6. 50 2.90 0. 00 1. 45 104. 0 0.0 0. 104. 14, 124.0 ;Fiézﬁjz; R,
117.0 0 117. 3. 50 2. 80 0. 50

H L = B T 6. 50 2.90 0. 00 1.45 99. 0 0.0 0. 99, 14, 223. 0 ;Fi;zgﬁjzg b,
117. 1 0 117. 3. 50 2. 80 0. 50

5 U = T 6. 50 2.90 0. 00 145 103.0 0.0 0. 103. 14, 326. 0 ;j{ézﬁg M,
117.2 0 117. 3. 50 2. 80 0. 50

5 U = T 6. 50 3.10 0. 00 0.90|  103.0 0.0 0. 103. 14, 429. 0 ;iézﬁg e
117.3 0 117. 3. 65 2. 50 0. 50

R = B 7.00 2.70 0. 00 1.70 97.0 0.0 0. 97. 14, 526. 0 giézﬁ% P,
117.4 0 117. 3.50 2. 50 0. 50

I R = B 7.00 2.70 0. 00 1.70 91.0 0.0 0. 91. 14, 617. 0 2;@7” P,
7.5 0 117. 3.50 2. 50 0. 50

R = B 7.00 2.70 0. 00 L.70]  106.0 0.0 0. 106. 14,723.0 22%7” P,
117.6 0 117. 3.50 2. 50 0. 50

R R = 5T 4.05 3.00 0. 00 0.85 95.0 0.0 0. 95. 14,818.0| 7 A7 TV S
117.7 0 117. 6. 25 1.75 0.75

B L = Bl 3. 50 6. 50 0. 00 0.85|  101.0 0.0 0. 101. 14,919. 0 ;;é”” R,
117.8 0 117. 3.50 2. 45 1.50

ol = gt 3.50  6.50]  0.00] 0.85|  98.0 0.0 0. 0.0 15,0170 5 77 T
117.9 0 118. 3. 50 2. 45 1. 50
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b R = BT 3.50 1.90 0. 00 1.00 103.0 0.0 0.0 103.0  15,120.0 ;;é”” MR,
118.0 0~ 118.1 0 3. 50 3. 00 1.10

AR = BT 3. 50 1.90 0. 00 1.00 101.0 0.0 0.0 101.0|  15,221.0 géé"” P,
118.1 0~ 118.2 0 3. 50 3. 00 1.10

HiA R = B 3.25 2. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0 15,321, 0|7 A7 7 /v M
118.2 0~ 118.3 0 3.25 2. 00 0. 80

R R = 5T 3.25 2. 00 0. 00 0. 60 89.0 0.0 0.0 89.0| 15,410.0/7 27TV S
118.3 0~ 118.4 0 3.25 2. 00 0. 80

FEE R = 5T 3.25 2.00 0. 00 0. 60 126.0 0.0 0.0 126.0] 15,536.0|7 77V L
118.4 0~ 118.5 0 3.25 2. 00 0. 80

iR = 3. 60 2. 90 0. 00 0.35 82. 0 0.0 0.0 82.0| 15,618 0|7 27 7 /v Pl
118.5 0~ 118.6 0 3.75 1.65 0.65

IR =T 3.50 2. 30 0. 00 0. 80 104. 0 0.0 0.0 104.0| 15,722 0|7 A7 7 /v Mk
118.6 0~ 118.7 0 3. 50 2. 40 1.30

F R = B 3.50 2.30 0. 00 0. 80 30.0 0.0 0.0 30.0|  15,752.0 ;;é”” M,
118.7 0~ 1187 30 3. 50 2. 40 1.30

b R = BT 3.50 0. 00 0. 00 0. 50 0.0 0.0 41.0 41.0[  15,793.0 ;;é”” P,
118.7 30 ~  118.7 71 3. 50 0. 00 0. 50

I R = B 3. 50 2. 30 0. 00 0. 80 47.0 0.0 0.0 47,0 15,840, 0|7 27 7 /v Mk
118.7 71 ~  118.8 0 3. 50 2. 40 1.30

HiA R = B 3.50 2. 30 0. 00 0. 80 99. 0 0.0 0.0 99.0 15,939, 0|7 27 7 /v Mk
118.8 0~ 118.9 0 3. 50 2. 40 1.30

R R = 5T 5. 30 3.70 0. 00 0. 80 57.0 0.0 0.0 57.0|  15,996.0|7 %7 7V S
118.9 0~ 119.0 0 3. 50 2.45 0. 50

FEE R = 5T 3.50 0. 00 0. 00 1.25 0.0 0.0 161.0 161.0[ 16,157.0|7 277V b Hi
119.0 0~  119.1 19 3. 50 0. 00 1.25

H L= B T 3.75 0. 00 0. 00 1.05 84.0 0.0 0.0 84.0  16,241.0 ;Fi;zgﬁjzg b,
119.1 19 ~  119.2 0 3.75 0. 00 0.75
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b R = BT 3.75 0. 00 0. 00 1.05 100. 0 0.0 0.0 100.0|  16,341.0 ;;?75’;; MR,
K P

119.2 0~  119.3 0 3.75 0. 00 0.75

AR = BT 3.75 0. 00 0. 00 1.90 36.0 0.0 4.0 40.0[ 16, 381.0 g;ég; P,
119.3 0~ 119.3 40 3.75 0. 00 2.36

IR = BT 3.50 0.00 0. 00 1.25 0.0 0.0 10.0 10.0[ 16,391.0 ﬁiiéﬁzﬁhiﬂ: P,
119.3 40 ~  119.3 50 3. 50 0. 00 1.25

R R = 5T 3.75 0. 00 0. 00 1.90 0.0 0.0 51.0 51.0( 16, 442.0 ;Fiﬁjﬁjzg P,
119.3 50 ~  119.4 0 3.75 0. 00 2.36

FEE R = 5T 3.75 0. 00 0. 00 1. 90 0.0 0.0 40. 0 40.0|  16,482.0 ;Fiézﬁjz; R,
119.4 0~ 119.4 40 3.75 0. 00 2.36

H L = B T 3.75 0. 00 0. 00 1. 50 0.0 0.0 14.0 14.0] 16, 496.0 ;Fi;zgﬁjzg b,
119.4 40 ~  119.4 54 3.75 0. 00 1.50

5 U = T 3.75 0. 00 0. 00 1.90 0.0 0.0 46. 0 46.0|  16,542.0 ;j{ézﬁg M,
119.4 54~  119.5 0 3.75 0. 00 2.36

5 U = T 6. 40 4.05 0. 00 0.70 0.0 0.0 32.0 32.0|  16,574.0 ;iézﬁg e
119.5 0~ 119.5 32 6. 30 4.10 0.70

b R = BT 8.00 1.80 0. 00 4.20 0.0 0.0 10.0 10.0[ 16,584.0 ﬁié%;é P,
119.5 32~  119.5 42 8. 00 2. 20 3. 00

AR = BT 6. 40 4.05 0. 00 0.70 61.0 0.0 5.0 66.0[ 16, 650.0 g;ég; P,
119.5 42 ~  119.6 0 6. 30 4.10 0.70

IR = BT 6. 00 2.15 0. 00 0.75 91.0 0.0 0.0 91.0[ 16,741.0 ﬁiiéﬁzﬁhiﬂ: P,
119. 6 0~  119.7 0 6. 00 2.25 0.75

R R = 5T 6. 00 2.15 0. 00 0.75 99.0 0.0 0.0 99.0( 16,840.0 ;Fiﬁjﬁjzg P,
119.7 0~ 119.8 0 6. 00 2.25 0.75

FEE R = 5T 6. 00 2.15 0. 00 0.75 20.0 0.0 0.0 20.0|  16,860.0 ;Fiézﬁjz; R,
119.8 0~ 119.8 20 6. 00 2.25 0.75

iR = 6. 00 2. 20 0. 00 0.70 0.0 0.0 27.0 27.0| 16,887.0|7 27 7V Pl
119.8 20 ~  119.8 47 8. 60 2. 20 0.70
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b R = BT 6. 00 2.15 0. 00 0.75 64. 0 0.0 0.0 64.0| 16,951.0|7 7 7V M=
119.8 47 ~  119.9 0 6. 00 2.25 0.75

I R = B 6. 00 3. 25 0. 00 0.70 95. 0 0.0 0.0 95.0| 17,046, 0|7 7 7 /v Mk
119.9 0~  120.0 0 6. 25 3.70 0.75

IR = BT 6. 25 3.50 0.00 0.75 99. 0 0.0 0.0 99.0 17, 145.0|7 27 7 /v Mk
120. 0 0~  120.1 0 6. 25 3. 50 0.75

R R = 5T 6. 25 3.50 0. 00 0.75 97.0 0.0 0.0 9.0 17,240,072 7TV S
120. 1 0~  120.2 0 6. 25 3. 50 0.75

FEE R = 5T 6. 00 2.50 0. 00 0.75 99.0 0.0 0.0 99.0| 17,341.0|7 277V L
120. 2 0~  120.3 0 6. 00 2. 50 0.75

iR = 6. 00 2. 50 0. 00 0.75 101.0 0.0 0.0 101.0| 17, 442 0|7 27 7V Pl
120. 3 0~  120.4 0 6. 00 2. 50 0.75

H = B i 6. 00 2.50 0. 00 0.75|  100.0 0.0 0.0 100.0| 17,542, 0|7 A7 7 /v Mk
120. 4 0~  120.5 0 6. 00 2. 50 0.75

FRl B = 5 6. 25 4.55 0. 00 0.75 68.0 0.0 0.0 68.0| 17,610.07 27 TV h#i%e
120.5 0~ 120.5 68 6. 25 3. 50 0.75

] VR BRI 7K T 6. 25 4. 55 0. 00 0.75 40.0 0.0 0.0 0.0 17,650.0|7 27TV b A%
120.5 68 ~  120.6 0 6. 25 3. 50 0.75

55 ] UL Bfe R 7K BT 6. 25 4.55 0. 00 0. 50 85. 0 0.0 0.0 85.0| 17,735 0|7 X7 7 /v Mk
120. 6 0~  120.7 0 6. 25 3. 50 0. 50

e UL BRORR I K T 6. 25 5.55 0. 00 0. 50 70.0 0.0 0.0 70.0|  17,805.0|7 27 7V S
120. 7 0~  120.7 70 6. 40 3.45 0.50

545 ] UL 55 ORI ZK BT 6. 40 3. 20 0. 00 0. 80 1.0 0.0 6.0 70| 17,8120 A7 7V M
120.7 70 ~  120.7 77 6. 40 3. 50 0.30

i [] VR B2 BRORB VS /K AT 6. 25 5.55 0. 00 0. 50 27.0 0.0 0.0 97,0 17,839.0|7 277V b Hi
120.7 77 ~  120.8 0 6. 40 3.45 0.50

1 [] VR 5% SRRV 7K BT 6. 25 5.55 0.00 0.50 134.0 0.0 0.0 134.0|  17,973.0|7 27TV b Al
120. 8 0~  120.9 0 6. 40 3.45 0. 50
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] VR 5 RRR Y 7K T 6. 25 3.50 0. 00 0.70 94.0 0.0 0.0 9a.0| 18,067.0/7 27TV i e
120.9 0~ 121.0 0 6. 25 3. 50 0.75
e[ = T AT 7L Mgk,
i o] UL I AR AT 6. 25 3.50 0. 00 0.70 76.0 0.0 0.0 76.0| 18, 143. 0| & o “he ke piesiig
121.0 0~ 121.1 0 6. 25 3. 50 0.75
() VR RR Y 7K T 6. 25 3.70 0. 00 0. 80 100. 0 0.0 0.0 100.0|  18,243.0 ﬁﬁié_zﬁh% P,
121. 1 0~ 121.2 0 6. 00 3.50 0.75
e UL BRORR I K T 6. 25 3. 60 0. 00 0. 90 68. 0 0.0 0.0 68.0| 18,311.0/7 27TV S
121.2 0~ 121.3 0 6. 25 3.30 0.90
i [] VR B2 BRORB VS /K AT 6. 25 3. 60 0. 00 0. 90 130.0 0.0 0.0 130.0] 18,441.0|7 277V L
121.3 0~ 121.4 0 6. 25 3.30 0.90
1 [] VR 5% SRRV 7K BT 6. 25 3.60 0.00 0.90 98.0 0.0 0.0 98.0 18,539.0/7 27TV b Hie
121. 4 0~ 121.5 0 6.25 3. 30 0. 90
1 [ VR 5% RORR VG 7K T 6. 50 3.25 0. 00 0. 90 100. 0 0.0 0.0 100.0| 18,639.0|7 27 TV h %
121.5 0~ 121.6 0 7.10 4.70 0. 80
T[] VR 5% RORR VG 7K T 6. 50 3.25 0. 00 0. 90 122.0 0.0 0.0 122.0| 18,761.0|7 27 T h#i%e
121. 6 0~  121.7 0 7.10 4.70 0. 80
] VR BRI 7K T 6. 75 0. 00 0. 00 2. 00 237.0 0.0 0.0 237.0| 18,998 0|7 X7 7 ¥ b A%
121.7 0~ 121.9 54 6. 50 0. 00 0. 60
55 ] UL Bfe R 7K BT 7.00 0. 00 0. 00 0. 50 26. 0 0.0 0.0 26.0| 19,024, 0|7 27 7 /v Mk
121.9 54~  121.9 80 7. 00 0. 00 1.25
e UL BRORR I K T 7.00 0. 00 0. 00 1.62 1.0 0.0 24.0 25.0| 19,049.0|7 27 TV S
121.9 80 ~  122.0 4 7.00 0. 00 1.75
e UL BRORR I K T 7.00 0. 00 0. 00 1.80 95.0 0.0 0.0 95.0| 19, 144.0|7 27TV S
122.0 4~ 122.1 0 7.00 0. 00 1.70
i [] VR B2 BRORB VS /K AT 7.00 0. 00 2.20 1. 80 100. 0 0.0 0.0 100.0| 19,244.0|7 277V b Hi
122. 1 0~  122.2 0 7.00 0. 00 1.70
1 [] VR 5% SRRV 7K BT 7.00 2.50 2.00 1. 40 101.0 0.0 0.0 1010 19,345.0|7 27TV b Al
122. 2 0~  122.3 0 7.00 2. 50 1.70
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] VR 5 RRR Y 7K T 7.00 2.50 2. 00 1.40 101.0 0.0 0.0 1010 19,446.07 > 7TV i e
122.3 0~  122.4 0 7. 00 2. 50 1.70

55 ] UL 55 R 7K BT 7.00 2.70 2.00 1.50 50. 0 0.0 0.0 50.0|  19,496.0|7 > 7 7 /v Ml
122.4 0~ 1224 50 7. 00 2. 50 1.50

e UL BRORR I K T 7.00 2. 00 0. 00 1.25 0.0 0.0 41.0 at.o|  19,537.0|7 27TV L
122.4 50 ~  122.4 91 7. 00 2.25 1. 50

e UL BRORR I K T 7.00 2. 70 2. 00 1.50 7.0 0.0 0.0 7.0 19,544,072 7TV S
122.4 91 ~  122.5 0 7.00 2. 50 1. 50

i [] VR B2 BRORB VS /K AT 7.00 2.70 2.00 1. 50 99.0 0.0 0.0 99.0| 19,643.0|7 *7 7V L
122.5 0~  122.6 0 7. 00 2. 50 1. 50

1 [] VR 5% SRRV 7K BT 7.00 1.75 0.00 0.75 102.0 0.0 0.0 102.0| 19, 74507 27 TV b Hie
122. 6 0~  122.7 0 7.00 2. 00 0.75

4 ] L SRR 7K BT 7.00 1.75 0. 00 0.75 12.0 0.0 0.0 12.0] 19, 757.0|7 A7 7V P
122.7 0~  122.7 12 7.00 2. 00 0.75

i VL BURR R SR T 7.00 1.75 0. 00 0.75 35.0 0.0 0.0 35.0] 19,792.0|7 X7 7V h#i%e
122.7 12 ~  122.7 47 7.00 2. 00 0.75

i VL BB R SR T 7.00 2.20 0.00 1.25 0.0 0.0 405. 0 405.0| 20, 197.0|7 A7 7V b A%
122.7 47~ 123.1 48 7. 00 2.15 1.25

55 ] UL e R 5 SR BT 7.00 2.20 0. 00 1.25 0.0 0.0 74.0 74.0| 20 271.0|7 27 7V M
123. 1 48 ~  123.2 20 7. 00 2.15 1.25

e WA 7.00 2.20 0. 00 1.25 0.0 0.0 150. 0 150.0 20,421.0|7 27TV S
123.2 20 ~  123.3 69 7. 00 2.15 1.25

e WA EE 7.00 1.50 0. 00 0.70 21.0 0.0 0.0 o1.0|  20,442.0|7 27TV S
123.3 69 ~  123.3 90 7.00 1.65 0.70

B A EE T 7.65 2.00 0. 00 1.25 0.0 0.0 11.0 11.0| 20,453 0|7 27 TV b Hi
123.3 90 ~  123.4 0 7. 80 2.15 1.25

FiE A EE T 7.00 1. 50 0.00 0.70 124.0 0.0 0.0 124.0|  20,577.0|7 27TV b Al
123. 4 0~  123.5 0 7.00 1.65 0.70
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